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(EHAE, ERHER] 7 2% 7 UL A )L OMEGA3 904 5,400 5,616 3,780 5,076 3,931 5,279
[FEHE,ERER] 7222 LA A )L OMEGA3 90 FEAE 5,400 5,616 = 5,076 — 5,279
(EHAfE,/FERER] T4 2 Y —X 604 4,860 5,346 3,402 4,568 3,742 5,025
[EEE EEER) TAUU U —2 60k BaAEE 0 | 1860 5346 - as68] = 5,025
[EHE EREER] T2 /87 —T A F 60%1 5,400 5,940 3,780 5,076 4,158 5,584
UEHME,ERHER] T2 /87 —T A F 604 BHAER 5,400 5,940 = 5,076 — 5,584
(EHE/ ZRER] T4 —7 2 U7 75 v 60fL 3,888 3,996 2,722 3,655 2,797 3,756
UEHME,#ERHER] T4 —7 2 U7 75 v 60K BRAERK 3,888 3,996 = 3,655 — 3,756
(EEE EEER) Ca—Fq 20T 754 R0 | 5616 | 5940 3931  s219] a8 5,584
(EEAE, BERER] Ea—T 4 U7 754 b 305 BRAER 5,616 5,940 = 5,279 — 5,584
[EHIE,SERHER] K2 =Hh)L & I >C 90k 3,240 3,456 2,268 3,046 2,419 3,249
(8@, 2hER] RE=HhL & I 2C 90k HHAEE 3,240 3,456 = 3,046 — 3,249




